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Do uow need oo commore

5 1 enom rbwctor ?

] a) -4/3 [] b) 18/18
] c) 4/3 ] d) 219
2. v
Dont forget : change to
= 1 improper ’Fra.ch‘gﬁs
32e2- i
4 5
[1 a) 6 3/20 [J b) 5 4/9

[ c) 6 4/15 [1 d) 8 1/4
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ChecK one
It took Earl %2 hour to do his science homework and %4 hour to - A,dcp
do his math homework. How long did Earl work on Lj Sub mc,{“
homework? D M w4 e /f/
a) % hour [1 b) % hour g Diride
|
c) % hour [1 d) ¥ hour ANow, do €.
1 =k
The weight of an object on the moon is % its weight on Earth. W ha:f’ IS l 22 O-F b
If a bowling ball weighs 12% pounds on Earth, how much La 1S | ‘j
would it weigh on the moon? YYY‘“U,('HP
a) 2 112 pounds [1 b) 11 1/3 pounds
c) 12 1/12 pounds [1 d) 13 2/3 pounds

Roberto needs separate roofing tiles to be cut from one large Draw a P ,‘c‘{‘ur €.
tile. How many tiles that are each 14 % inches in length can
he cut from the one large piece of tile that is 100 % inches

long?
a) 86 1/4 tiles [1 b) 7 tiles
c) 7 3/4 tiles [1 d) 115 tiles
Wheat does Sume
Find the(sum pf3/8 and 1/3.Reduce, or simplify answer. éean ?
a) 4/1 [ b) 148

c) 17 /24 ] d) 1/24
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Find the(difference pf47 / 56 and 15 / 56. Write answer in Wha:{' CLCE‘S? CL{ Bt
ean s

simplest form.
a) 16/28 1 b) 32/56
c) 4/7 [1d) &/14

st umbers,
Perform the indicated operations.(2/5) + (1/2) - (7/8)Reduce, or DO +Hhe I 2 N ‘H’\e‘/\
get an answer;

simplify answer.
i’ 2 yptract 3
a) 1 ] b) 2/80 g
c) 3/8 []d)1/40

Perform the indicated operation.(5/6) x (3/8) Write answer in S mp “ﬁj m any

lowest terms. nu’mamag@r A
denomin
a) 16/5 [1 b) 48/15
c) 15/48 [] d) 5716

Find the product of(1/6) and (2/3).Reduce, or simplify answer. Wha;j— does

mean?

a)1/4 1 b)9
c)1/9 O] d) 3/12

Find the quotient of(2/3) and (5/6) .Reduce, or simplify. What does 69_0_%_’99-1,

7

a) 12715 1 b) 5/9 PheLn *
c) 4/5 0 d) -1/6

2% + 1% C'/ha-ﬂgc to (mp roper
a) 46115 0 b) 47115 frachors

Do youw pasd & >
¢) -3:6/8 [1 d) 36/15 C/(dommon d,momu/lﬂ-fof‘
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Do Youw nued ot-aﬁ)f?

% - Y5
dommon denonun
a) 19/30 0 b) 41
c) 4/30 [1 d) 4/6
fo 4
Mrs. Baltazar's drove 39.6 miles. She drove 2.2 miles each Po yolw naed
day. How many days did she drive 2.2 miles? D A‘ﬁ ‘l"'
a) 41.8 days [1 b) 18 days inmy
c) 87.12 days [1 d) 37.4 days g DN [de_
12.6 + 0.8 ermemba s
15.75 b) 1.57 -vou cant divide
a) 15. [1 b) 1.575 b}j a d,éCEMﬂL Ym
c) 10.24 L1 d) 1575 muust Mmeake i
a wWhele .
16.3 - 4.156 Line wp o I
a) 12.244 O] b) 12.454 decimels *
c) 12.144 1 d) 13.144
2-043=
a) 0.45 (il b) 1.57
c) 0.41 [ d) 2.43
0.071x 8
a) 0.675 [] b) 0.865
c) 0.568 [] d) 0.468



